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L.O. I can solve multiplication problems 
Read the information below and answer the questions in your books.

1. There are 5 pencils on every table. There are five tables. How many pencils altogether? Biscuits 


2. Carla has 7 packets of biscuits. 
There are 10 biscuits in each packet. How many biscuits are there            altogether? 
 
3. There are 9 rows of 5 chairs in the hall. How many chairs are there?                                           


4. There are 6 counters in a box. How many counters in 5 boxes?


5. Mrs Gibson has 10 shelves of books. If there are 5 books on each shelf. How many books are there altogether?


ANSWERS 
L.O. I can solve multiplication problems 

1. There are 5 pencils on every table. There are five tables. How many pencils altogether? 5 X 5 = 25 Biscuits 


2. Carla has 7 packets of biscuits. 
There are 10 biscuits in each packet. How many biscuits are there            altogether? 7 X 10 = 70
 
3. There are 9 rows of 5 chairs in the hall. How many chairs are there?            9 X 5 = 45                              


4. There are 6 counters in a box. How many counters in 5 boxes?


6 X 5 = 30                              
5. Mrs Gibson has 10 shelves of books. If there are 5 books on each shelf. How many books are there altogether? 10 X 5 = 50                        
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